54 B DY s 5. (F 45 5)

W4 SE:iE x|
G-GPxs+G 5P - Q- 2P+ 3 x i -

(G- 9)% 3+ G+ 3P - (430 + 43+ -

(5P +3)% 53— (G2 - (G435 450 CP)-

(- D)% 53— G+3P - G- @)% -G -3 -

www.snowmath.com



https://www.snowmath.com

54 B DY s 5. (F 45 5)

(5 ) — )X

1 2, 1
+ — = (——
5 5) ( 25)

H H: v
31 (2—g)2+gx§x42__231__8_2_4_
48 5 3 5 25 25
139 3, 1 3 , 575 11
= + )Y+ —-+=-+2"=— =47—
3360 S 2) 6 2 12 712
1,1, 11
—_ 4 — —
G575 G-
| 11
= =26— 2— P - —= = (- 14
25 ( 2) 2 3 ( ) C

L_ oy, 11
(3 (3)) 6 (3 225

www.snowmath.com

- S

P = (220 Clae)


https://www.snowmath.com

